1ISO15552RES IR 4

1ISO15552 Standard Cylinder Accessories

LB 3728
Foot Bracket

CAEE
Single Earring

SDB e=EER (RIER)
Back Cover Fixed Type

Ji K
Cylinder center line <

e
LAG]
AD AD
AC
AA
D | sone | &
o ol
y <
@& i)
os
ot
D%
- T
- QI @
e @@L l®
os
Cil
oT

CP:g3

tilkeeSiEes

Cylinder Accessories

P& | 32| 40 | 50 | 63 | 80 100|125 | 160 200
AA 158 | 179 | 190 | 209 | 248 | 266 | 290 | 340 | 380
AC 142 | 161 | 170 | 185 | 210 | 228 | 250 | 300 | 320
AD 8 9 10 12 19 19 20 20 30
AE 47 58} 65 75 95 115 | 140 | 180 | 220
AF 32 36 45 50 63 75 90 | 115 | 135
AG 24 28 32 32 41 45 45 60 70
AH 32 36 45 50 63 71 90 115 | 135
AP 7 9 9 12 | 145|16.5|185| 24
AT 3 3 3 4 4 6 6 9
P& | 32| 40 | 50 | 63 | 80 100125160 200
S] 47 53 65 75 95 115 | 140 | 180 | 220
T 325| 38 |46.5|56.5| 72 89 110 | 140 | 175
DC 22 25 27 32 36 41 50 55 60
DD 9 12 12 15 15 20 25 30 30
DE 10 12 12 16 16 20 25 30 30
DJ 13 16 17 22 22 27 33 |355| 36
DQ 25.8|27.8|31.7|39.7 | 49.7 | 59.7 | 69.7 | 89.7 | 89.7
AR
P& |32 | 40|50 | 63| 80 | 100125160200
CE© 22 25 27 32 36 41 50 55 60
CD 9 12 12 15 15 20 25 30 30
CE 10 12 12 16 16 20 25 30 30
CJ 13 16 17 22 22 27 31 [355| 36
CP 26 28 32 40 50 60 70 90 90
CT 45 | 52 | 60 | 70 | 90 | 110 | 130 | 170 | 170
PA1 51 59 67 77 97 119 |1 139 | 181 | 181
PB1 45.5152.5(60.5|70.5|90.5|110.5|130.5|170.5 | 170.5
S] 47 53 65 75 95 | 115 | 140 | 180 | 220
T 325| 38 |46.5|56.5| 72 89 | 110 | 140 | 175
P& | 32 | 40 | 50 | 63 | 80 | 100 | 125
A 6.6 6.6 9 9 1M 11 14
B 1 11 15 15 18 18 20
BG 18 22 30 35 40 50 60
BH 31 35 45 50 60 70 90
BI 21 24 33 37 47 55 70
BL 8 10 10.5 12 14 17 20
BM 32 36 45 50 63 71 90
BN 38 41 50 52 66 76 94
BO 51 54 65 67 86 96 124
BS 12 15 18 22 20 20 30
BR 20 22 26 30 30 38 45
© 1.6 1.6 1.6 1.6 2.5 2.5 3.2
D 10 12 12 16 16 20 25
IF 10.5 | 10.5 | 10.5 | 10.5 | 10.5 10.5 | 10.5
G 3 3 3 3 3 3 3
BQ 25 28 32 40 50 60 70
108

SEL

Cylinder




UL ZAR P

Cylinder Accessories

1ISO15552 RS =M 4

ISO15552 Standard Cylinder Accessories

HE
—as BB 32 |40 | 50 | 63 | 80 | 100| 125|160 | 200
ISO-FA/FB i&=#R Wl EETE
Flange T AJ M| 11| 14 | 14 [ 17 | 17 | 19 | 25 | 25
<
o= = AK 707 | 9| 9| 11| 11| 18|17 |17
» @4 = B BA |30.5|355|40.5|45.5 455|555 |60.5 | 65.5 | 75.5
/g T 1 8 BB 10 | 10 | 12 | 12 | 16 | 16 | 20 | 20 | 25
2 o N
‘ S o NE) BC | 47 |53 |65 | 75| 95 | 115 | 140 | 180 | 220
+ +
p2? 9/\ BD |32 |36 |45 |50 |63 |75 |90 |115 | 135
o O
g BE | 80 | 90 | 110 | 125 | 154 | 186 | 224 | 280 | 320
" , \‘/ o m
= BF | 64 | 72 | 90 | 100 | 126 | 150 | 180 | 230 | 270
VAN @ ©® @ P BH 4| 4| 4|66 |6 |8]|8]|12
<@ -
' BP 7| 9| 9| 9 |125](145(16.5(18.5| 24
4-OBP
T 32.5| 38 |46.5(56.5| 72 | 89 | 110 | 140 | 175
ISO-TC ig £ W% | 32| 40 | 50 | 63 | 80 | 100125160 |200

01 Bore
EE .04 EG
il EB 100 | 113 [ 125 | 140 | 160 | 182 | - | - | -
EC 52 | 63 | 74 | 80 |105[128| - | - | -
ED |[325| 338 [465|565| 72 | 89 | - | - | -
EE 52 | 63 | 75 | 90 | 105|128 | - | - | -
EG 25|25 |25 |25 |25 |25 | - | - | -
EP 12 16 | 16 | 20 | 20 | 25 | - | - | -
ET 20 |22 |22 |28 |28 |3 | - | - | -
HC 37 | 45 | 55 | 68 | 87 [1075| - | - | -

Central Trunnion

Eil§

ISO-Y 2 £k Joint
ISO-1 & £k Joint

PE | NA | NC | ND | NE | NF | NG

Bore
ISO-Y+-40(Clip) Y 2 Type 32 19 10 40 52 15 20
40 254 | 12 48 67 24 20
7 50 32 16 64 89 32 23
a 63 32 16 64 89 32 23

e
PA

80 44.4 20 80 112 40 30
100 44.4 20 80 112 40 30
125 55 30 110 155 50 56

PB

NH

i

160 70 35 144 201 50 72
200 70 35 144 201 55 72
ISO-Y+#F(Pin) BE | NH | NM | NP | NQ | PA | PB

32 M10x1.25 10 20 52 26.2 20

JeS e = 40 M12x1.25 | 12 24 62 | 32.8 | 26,5
"y 50 M16x1.5 | 16 32 83 | 393 | 33
k’ 63 M16x15 | 16 32 83 | 393 | 33
‘ & 80 M20x15 | 20 40 | 105 | 53.3 | 45
o 100 M20x15 | 20 40 | 105 | 533 | 45
rﬂ 125 M27x2.0 | 30 54 | 148 | 64 | 556
' 160 M36x2.0 | 35 72 | 191 | 80 | 706
ISO—1 E$L (Joint) 200 M36x2.0 | 35 72 | 191 | 80 | 706

109



tikaeSiEEs

Cylinder Accessories

1ISO15552RES IR 4

1ISO15552 Standard Cylinder Accessories

ISO-UJ iZahiEsL E%E MA|MB |MC|MD|ME| MF [MG|MH| MI  |MK
Float Joint M 32 |s8|22] 7 |21|26[115] 7 |10 |m10x1.25] 12
isl. WA 40 |s8|22] 8|21 |28[115] 8 |12 |mi2x125] 12
2 i " 50 | 90|27 |10 41 |a45] 20 | 10| 17 | M6x1.5
15} L4 = 63 | 90|27 |10 |41 |445] 20 | 10 | 17 | M16x15 | 7
o 80 |102|20 [ 13|46 | 53] 24 | 13| 22 | M20x15 | 10
. 100 |102] 29| 13 |46 | 53 | 24 | 13 | 22 [ M20x15 [ 10
MD 125 |147|54 | 13 |64 |62 | 39 | 14| 30 | M27x20 | 9
160 |251| 72| 22 [115] 80 | 80 | 18 | 36 | M36x2.0
200 |251| 72|22 [115] 80 | 80 | 18 | 36 | M36x20

ISO-PHS &Rz \&\1 W& | pa | pB | PC|PD | PE | PF PG | PH

. - Bore
Fisheye Joint
32 11| 26 | 10 | 21 | 43 | 56 |M10x1.25| 13

40 12 | 30 | 12 | 24 | 50 | 65 | M12x1.25| 13
50 15 | 38 | 16 | 33 | 64 | 83 | M16x1.5 | 15
63 15 | 38 | 16 | 33 | 64 | 83 | M16%x1.5 | 15

© 80 18 | 46 | 20 | 40 | 77 | 100 | M20x1.5 | 15
* 100 | 18 | 46 | 20 | 40 | 77 | 100 | M20x1.5 | 15
125 | 37 | 70 | 30 | 51 | 110 | 145 | M27x2.0 | 15
160 | 43 | 80 | 35 | 56 | 125 | 165 | M36x2.0 | 16
BE 200 | 43| 80 | 35 | 56 | 125 | 165 | M36x2.0 | 16
AT ST TR
Standard Cylinder Accessories -
Cylinder
e e & | 32| 40 | 50 | 63 | 80 [100|125|160 200
Foot Bracket Z Cylinder N

o J center line AA | 153 | 169 | 173 | 184 | 199 | 210 | 249 | 328 | 380
y ’Aoi AG " AC | 134 | 140 | 149 | 158 | 167 | 174 | 213 | 288 | 320
AA+ AD |95 |145] 12 |13 |16 | 18 | 18 | 20 | 30
S AE 50 | 57 | 68 | 80 | 97 | 112 | 140 | 180 | 220
— \P\ | AF |33 |36 | 47 | 56 | 70 | 84 | 90 | 115 | 135
Wl L GAP AG |205|235| 28 | 31 | 30 | 30 | 45 | 60 | 70
I I AJ 28 | 30 [365| 41 | 49 | 57 | 90 | 115 | 135
@ @ AP 9 |12 12|12 |14 | 14 |16 | 18 | 22
AT 3|33 |3 |4|4|8]s8]10

SFES
FAFB 52445 Ele 132 [ 40 | 50 | 63 | 80 [100|125|160|200
Flange BBg BA |28.3|32.3|38.3|38.3|47.3|47.3| 56 | 63 | 81
fft—‘t BB 101010 1216|1620 25] 25
S &b BC 47 | 52 | 65 | 76 | 95 | 115 140 | 180 | 220
@ | @ BD 33 |36 |47 [ 56| 70 [ 84 [ 90 [ 115 135
e /x BE 72 | 84 | 104 | 116 | 143 | 162 | 224 | 280 | 320
| o8| \J BF 58 | 70 | 86 | 98 | 119 | 138 | 180 | 230 | 270
BH |65)65]|65]|85]|105]105| 15 | 20 | 20
@ @1 AJ [105]105]135[135] 5 | 5 [ 19| 25 | 25
& & AK | 65]|65]65]|85105[105]125[16.5(16.5
BP 71 7199 |11]11]16]18]2
T 33 37 47 56 70 84 | 110 | 140 | 175

110



gkl

Cylinder Accessories

IR LS R

Standard Cylinder Accessories

CA #E P& |32 | 40 | 50 | 63 | 80 | 100| 125|160 | 200
Single Earring Os pc. Dl S 48 | 50 | 62 | 75 | 94 | 112 | 140 | 180 | 220
ot T 33 | 37 | 47 | 56 | 70 | 84 [ 110 | 140 | 175
LY %, Pa-b DC 34 | 34| 34| 34|48 | 48 | 50 | 55 | 60
&N > \‘ DD 14 | 14 | 15 | 15 | 20 | 20 | 25 | 30 | 30
“a A (I S :I\ oo DE 12 | 14 | 14 | 14 | 20 | 20 | 25 | 30 | 30
| /2< DJ 14 [ 14 | 15 | 15 | 20 | 20 | 25 | 30 | 30
:l')( »DE DQ 16 | 20 | 20 | 20 | 32 | 32 | 70 | 90 | 90
© T 9] MNET#Z 32-1000CATICE, BIFTLURHOMRRMIEIFS, 1.4 248, WET
aw ITERTREBMER, M125-200 £EBH%k. _
CA and CB From 32-100,we can supply two kinds of materials products:
1.Iron material
2. Aluminium material.When placing order, please indicate product material. From
125-200 are all iron material.
CB XWE Os
Double Earring ot P& |32 | 40 | 50 | 63 | 80 [100| 125 | 160|200
cT CCREY ore
o — cC 19 [ 19 |19 | 19|32 |32 | 50 | 55 | 60
a & \ ersy ] cD 5|5 3| 2| 8| 8|2 |30] 30
N 1 ' > R - CE | 12|14 ]14]14[20]20]25]30]30
= .)/\,{/};_!}¢_§ _ C\ cJ 13 | 13 [ 15| 15 [ 21 | 21 | 25 | 30 | 30
- $CE CcP 16 |20.520.3|20.3(323(323| 70 | 90 | 90
o | & CT 32 | 44 | 52 | 52 | 64 | 64 | 120 | 160 | 160
-~ PAl | 41 |51.8(60.3|60.3|73.8(73.8| 130 | 170 | 170
PB1 PBlI (335|458 | 54 | 54 |655|655|121.5(161.5|161.5
W S 48 | 50 | 62 | 75 | 94 | 94 | 140 | 180 | 220
T 33 | 37 | 47 | 56 | 70 | 70 | 110 | 140 | 175
Y # #2230 Joint / | BY 3k Joint Y & Type | 8 Type
pQ NE
ND ND
NP X TN NF i NG
@ . ! == @
in = ;E:) s 1 e
L 1 —
®NC - SNC /_"ﬂ
YEUSESL Joint | BU523L Joint é é = <€
H1& Bore 32 40 50 63 80 100 125 160 200
NA 19 25.4 32 32 44.4 44.4 55 80 80
NB 20 24 32 32 40 40 45 54 54
NC 10 12 16 16 20 20 25 30 30
ND 40 48 64 64 80 80 110 120 120
NE 52 67 89 89 112 112 155 130 130
NF 15 24 32 32 40 40 40 35 35
NG 20 20 23 23 30 30 56 50 50
NH M10x1.25 | M12x1.25 | M16x15 M16 % 1.5 M20 % 1.5 M20 % 1.5 M27 x 2 M36 x 2 M36 x 2
NJ 12 20 22 22 30 30 30 40 40
NK 18 23 30 30 39 39 54 54 54
NM 10 12 16 16 20 20 48 40 40
MP 20 24 32 32 40 40 64 35 35
NQ 52 62 83 83 105 105 148 150 150
PA 25 32.8 39.3 39.3 53.3 53.3 64 91 91
PB 19.5 26.5 33 33 45 45 55 81 81

111



tikaeSiEEs

Cylinder Accessories

bR S TR

Standard Cylinder Accessories

5
TC hiZ . M | 40 | 50 | 63 | 80 | 100 | 125 | 160 | 200
Central Trunnion
EB 113 | 126 | 138 | 164 | 182 | 210 | 264 | 336
EC 63 | 76 | 88 | 114 | 132 | 160 | 200 | 240
b ED 37 | 47 | 56 | 70 | 84 | 110 | 140 | 175
EE 63 | 76 | 88 | 114 | 132 | 160 | 200 | 240
EG 25 | 25 | 25 | 25 | 25 | 25 | 32 | 48
EP 25 | 25 | 25 | 25 | 25 | 25 | 32 | 37
ET 30 | 30 | 30 | 30 | 40 | 30 | 38 | 44
S 455 | 55.5 | 68.5 | 87.5 | 107.5 | 1345 | 1725 | 212.5
—\ A
TC Mﬁ:Type HD DOHC |‘H_Q_r_ HR
- 4-OHP /D N| ‘
E K T
D % z
—— —/ B
| . |- B HF
HA ! HE !
P12 Bore HA HB HC | HD HE HF HI HJ HQ | HR HT HP
40 110 80 45.5 22 109 86 815 50 23 2 12 12
50 110 80 55.5 22 122 99 88 50 23 2 12 12
63 110 80 68.5 22 134 11 94 50 23 2 12 12
80 120 85 87.5 22 160 137 127 70 23 2 14 14
100 120 85 107.5 22 178 155 136 70 23 2 14 14 -
Cylinder
A3 74 /=
AR SETE
Mini Cylinder Accessories
M-UJ iZzh#z:k Float Joint
4
isd MK MJ ME E‘Jé MA|MB|MC|MD|ME| MF |MG|MH| M |MJ| MK
& \74 ore
§3! A=) 20 |51(20| 6 |17| 8 [M8x1.25| 12|24 | 13| 8 | M8x1.25
1 Y I N7 N TS 25 |58(22| 7 |21| 8 |M10x1.25| 12 | 26 [ 17 | 10 | M10x1.25
— 32 |58|22| 7 [21] 8 |MI0x125| 12|26 |17 | 10 | M10x1.25
MG
v S 40 |58(22| 8 | 21| 7 |M12x1.25| 12 | 28 [ 19 | 12 | M12x1.25
M-PHS & fR#Esk PS i
Fisheye Joint S
l E‘]‘é PA|PB|PC|PD|PE|PF|PG| PH |PI|PJ|PK|PL|PM
o £ _-ED ore
: 1 ‘ 20 |8 |12] 9 [104]22 (36|47 |M8x125|17 | 16 |125| 5 | 14
= Sl " 25 | 10|14 | 11(129] 26 | 43 | 56 | M10x125 | 21 | 19| 15 | 6.5 | 17
) ; 32 | 10|14 |11 [129| 26 | 43| 56 | Miox125 | 21 | 19| 15 | 65| 17
a | H
i : 40 |12 16|12 |154]30 | 50 | 65 | M12x1.25 | 24 | 22 |17.5| 6.5 | 19
1 2] PX]
|BH.| Pk |
PM PJ

112



SHLZ A

Cylinder Accessories

RRARTHELACHF

Mini Cylinder Accessories

M-FA / M-FA-A i&x=#x ®16~D25 ®32~d40
Flange
C+17#2(Stroke) BC ) B C+47#2(Stroke) BC
BD
I (g-_\ r'_’l
- ] 1 o o
A > - A P s wlw o ]
B O O e o m gy mm
V : w1
, - |
; D&
|.BB . 2-6BP o
M-FA 4-HBP
©
/=3
P Ego:rte B | MAZZ | MAL 51 | MSA &FlSeries | MSAL Z%lSeries | BB | BC |BD | BE | BF |BP | F
,‘l'. \ Series | Series | 0-50 [51-100| 0-50 [51-100
(@ 16 38 60 - 60 85 - - 3 26 - 52 | 40 | 55| 16
TR 20 40 76 70 76 101 70 95 4 38 = 64 | 50 | 6.5 | 12
25 44 76 70 76 101 70 95 4 38 - 64 | 50 | 65| 14
M-FA-A 32 44 76 70 76 | 101 70 95 | 4 |47 33|72 [58]65] 14
40 46 76 92 76 101 92 117 4 50 | 36 | 84 | 70 | 65| 14
M-LB 37Z8 Bracket B E
e :
AB . : <
I g, 1 I ]
=]
AL 4-0AP %
AC+ AF
AA+ AE
R AA AC
Bg;.te B | F | MAZ5 | MAL %5 | MSAZ3 Series | MSAL %51 Series | AB | MA %51 | MAL 51 | MSA %3 Series | MSAL %5 Series | AE | AF | AL [AQ | AP | AT | AH
Series | Series | 0-50 | 51-100 | 0-50 | 51-100 Series | Series | 0-50 |51-100 | 0-50 | 51-100
16 38 | 16 98 - 98 123 - - 25 86 - 86 111 - - 44 1 32 |13 | 6 |55 3 | 20
20 40 | 12 122 116 122 | 147 | 116 | 141 | 25 106 100 106 | 131 | 100 | 125 | 54 | 40 | 15| 8 |65 | 3 | 25
25 44 | 14 | 122 116 | 122 | 147 | 116 | 141 | 29 | 106 100 | 106 | 131 | 100 | 125 | 54 | 40 | 15| 8 |65| 3 | 25
32 44 | 14 142 136 142 | 167 | 136 | 161 | 19 126 120 126 | 151 | 120 | 145 | 59 | 45 |25 | 8 (6.5 | 4 32
40 46 | 14 142 158 142 | 167 | 158 | 183 | 21 126 142 126 | 151 142 | 167 | 64 | 60 | 25 8 | 65|45 36
_ 5o
M-SDB 3258 Bracket ‘ CB+Stroke D _ca
PA s Q
PB g T
g dr }

CF CA
CD CE

p CB
E_I (;rée D S Q | CA | Ma=zzy | MAL ®#I | MSAZ3)Series | MSALZFISeries | CD | CE | CF | CH | CT | CP | CQ | PA | PB
Series Series 0-50 | 51-100 | 0-50 | 51-100
16 16 9 12 - 107 - 107 132 - - 23 - 12 20 23 | 55 [ 165| 21 17
20 21 12 16 51 128 122 128 153 122 147 48 67 32 32 3 6.5 22 27 | 22.5
25 21 12 16 51 132 126 132 157 126 151 48 67 32 32 3 6.5 22 27 | 22.5
32 27 15 16 51 135 129 135 160 129 154 52 67 36 36 4 6.5 24 30 | 245
40 27 15 20 55 137 153 137 162 153 178 56 71 40 40 4 6.5 28 34 | 285

113



tikaeSiEEs

Cylinder Accessories

M-Y B #2L Joint

o e ) I Ll -
‘\p E 7?5 ’21 - ~E|_ L@J — \M
| | o _—
M-Y+&F(Pin)  M-Y+£(Clip) ! - = ',)' i G
M

M-| B #z23L Joint

PA |
CINA
NM
P h
T
——

NJ

o
)
(=)
1
©
~
[S)
<
~
. (¢}
SNK ‘

Eo S

NQ NE
M-| B2k (Joint)
=
Egg:rte NA | NC | ND | NE NF | NG NH NJ NK NL | NM | NN NP | NQ | PA PB
20 16 8 30 40 11 15 M8 x 1.25 10 16 14 8 8 15 40 21 16.5
25 19 10 40 52 15 20 M10 % 1.25 12 20 18 10 10 20 52 25 19.5
32 19 10 40 52 15 20 M10x 1.25 12 20 18 10 10 20 52 25 19.5
40 25.4 10 45 57 15 25 M12x 1.25 15 24 23 14 10 20 57 31 26
SiL
Cylinder
M-U % 3252 .
Bracket ‘ ‘
N I | BU |
) S S wi| |
) { - l |
1 -0
) SX45° !
Lyl BT CH |
\ M
N
ggg?e B B C H L N (6} R S G BT CG CH BU S
8/10 4.5 4 12.5 24 20 8.1 13 5 2.5 4 14 3.7 0.5 17 0.2
12/16 5.5 6 15 27 25 13 18 6 19 5.6 0.8 24 0.4
20/25 6.6 8 20 29.5 32 16.1 24 10 4 8 25.2 7.5 0.9 29.5 0.5

114



	德捷catlogue-2021 108
	德捷catlogue-2021 109
	德捷catlogue-2021 110
	德捷catlogue-2021 111
	德捷catlogue-2021 112
	德捷catlogue-2021 113
	德捷catlogue-2021 114



